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1) The answer to this question is

A) A
B) B
C) C
D) D
E) E

6) The first question whose answer is B is

A) 3
B) 4
C) 5
D) 6
E) 7

2) The number of questions whose answer is A is equal
to the number of questions whose answer is

A) B
B) C
C) D
D) E
E) All of the above

7) The number of questions whose answer is C is

A) 0
B) 1
C) 2
D) 3
E) 4

3) The answer to number 10 is

A) E
B) D
C) C
D) B
E) A

8) The answer to this question is how many letters away
from the answer to the next question?

A) 4
B) 3
C) 2
D) 1
E) 0

4) The answer to question 6 is

A) A
B) B
C) C
D) D
E) E

9) The number of questions whose answer is a vowel is

A) An even number
B) An odd number

C) A prime number
D) A perfect square

E) A multiple of 5

5) The answer to this question is the same as the answer
to number

A) 3
B) 4
C) 5
D) 6
E) 7

10) The answer to number 3 is

A) C
B) D
C) A
D) B
E) E




